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It’s difficult to compare the two players because the _______ are 
quite different.
To make comparison easier we should convert the ______ to ______counts

counts

percents
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Wait a minute.  I thought we were going to send in A to pinch-hit because 

he had the better average.  But this table shows that B has a better average 

against right and left-handed pitchers!  What happened?



.225    .250     .275     .300    .325     .350    .375     .400

.225    .250     .275     .300    .325     .350    .375     .400

Since the ___________ is also the balance point, we can 
use the Law of Levers in our explanation.

.227

.277

2
2

1
1
9

.346

8
1

.375

3
2

average

Mathematically

22(.227) + 81(.346)
103
.320

119(.277) + 32(.375)
151
.298
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